! u,=(A - 550) / 502

=(- +Lg)2 log- =-0,35L-u [,

=G+ 0,35 logLo= —0,35U)\~Us7d

- aBo Adaptation: A | =520
570

) uy=(A - 550) / 5

=( +Lg)2 log - =-0,35u)-u ]

= +0,35 logLo= 0,35~ u57o]

" aBo " Adaptation: A (=520
570

/\ maximum = Ximuim
4 log( m)=-0,35 1 Iog m=-0,
/N /
Threshold Thre hold
0,5 t2=0,00 11 / ta=0, X

e == 7 Sy
400 500 6 (
BoJo->MaMo - BoJo->MaMo

L., Lo-data u=(\ — 550) / 50
L=( + )2 log =-0,35u,-u ]
Lo=L /0,44 log =-0,35u,-u ]
Loyl Go; _Adaptation: A =570

VAN 6.

L ,Lo-data 0)/
L= +:0)/2 log =-0,35u\—u
Lo=L /0,44 log  =-0,35u,-u ]
Loy ey Go, Adaptation: A =570
570

maximum maximum
log(L m)=-0,35 log(L m)=—0,35
Lm=0,44 L m=0,44
Threshold Threshold
=000 - T- " """ " T°TTTTTTTTTTT R0

il 3
700 A/nm

DoOo->YaYo CE021-3R DoOo->YaYo CE021-4R

u,=(A - 550) / 502 \ uy=(A — 550) / 502
=( +Lg)2 log: =-0,35L)\-u ]2 =( +Lg)2 log - =-0,35u)-u ]2
= +0,35 logLo = —0,35U)~Us7d = +0,35 logLo = —0,35)~Us7d

HeqBo |y Adaptation: A | =520 Nea Bol Adaptation: A (=520
" 570 570
. maximum Ximum
1 log( m)=-0,35] Iog m)— 0,35
m=0,44
Threshold Thre hold
0,5 / t,=0,00 11 ta—O ")
0,0r-3 -1 1 3 uy 3 u,\
400 500 600 700 A/nm (

CE021-5R
uy=(A - 550) / 50,
=+ )2 log =-0,35L)\-u ]2
= .+0,35 log =-0,35L)-u ]
 Ba Ro Adaptation: A =470

CE021-6R
uy=(A — 550) / 50,
=+ )2 log  =-0,35u)-u ]2
= +035 log =-0,35u\-u ]
Adaptation: A =470

L. maximum maximum
1 log( m)=—0,35]
m=0,44
Threshold Threshold
0,5 t,=0,00 I 1,=0,00
0,6r-3 =il 3 uy

ToGo->BaBo CE021-7R ToGo->BaBo CE021-8R



